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STATION 1

WV

Dlrechons Find the following
for €ach graph...

- Domawn
2. Range
3. X-infercepts
4. y-intercept

5. Intervals 0f INCreasing

b. Inlervals of decreasing
7. Intervals of wnstant

8§ Local minimum(s)
q. Local maximum(s)
10. €(0)
. £(-9)
12. £(5)
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STATION 4
Answers for H(x) @w
W ‘

domain s all veal numbers  or (00, 00)
10 aTe o S T RPN,

X-Intercepts: (-2,0) ¥ (0,0) + (7, O)

Y -intercept +| (o, 0) i 1
INCreasing m+ervals (—(o, 8)\/( L5)

| decreasing m’rervaﬁs (—8, 6)U (=3, DU(‘S q)‘
constant Y)Hﬁrvaﬂs (~ DV (=6) 53\)(q )
locad mm)muum (l,l) |
locad maximum: (—@,‘m “ (5/0)
o= |
£(=8)=
£05)= 6



Rfnswers  for g (x)
N~ e~

ddmain: all real numbers or  (-o,00)
YC\nqei all lredal numlbers [0k (<00, co)
X=INEHCEPTS (34, DY (10,0 ) T
Y-interCeprs: | (0,1) EmE
NCreasing intervads: (-10,-3) U(0,2) 0(3,4)
decreasing mﬁarvafisz (20, m10yu (213U, 2)
Constant mitervalst (=3,0) - ‘

local pmimum:—(510,-6) + (3,3)

0ol maximum: (2,5) «(4,5)

RN ‘

T(FBE Wik

S SDET R



ANswers for | (x)
\—/\_/\_/\/\/

domaimn ¢ all real numbers or (-o0,00)
cange: ol veal numbers of  (-00,09)
X=intevceprs: ((-10,0) # (-5 ,0) + (1.0) + (&, 0) « (10,0)
U=TNierceprsiti(0,+3) |

nCreasing Miervals: (-e0, -8)U (0, 2)u(q, )
decredsing niervoLs: (=6,-3)u (6,9)

constant Miervals: (-%-6) @@z U (-2,0)v(2,6)
locod mnmum: (4, -I1.5)

Locad  mMaximum: ' hone
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